Physics 105: General Physics – Practice Test 1 – Not actually due
1. Four forces: 25N at 0(, 35N at 50(, 27N at 165( and 17N at 255( all act simultaneously on a 350-g mass.  Find the acceleration (magnitude and direction) of the mass. 



2. The coach throws a baseball to a player with an initial speed of 72.0 km/hr.  She throws the ball at an angle of 40( with the horizontal.  At the moment the ball is thrown the player is 50 m from the coach.  At what speed and in what direction must the player run to catch the ball at the same height at which it was released. 





3. A truck on a straight road starts from rest, accelerating at 2.00 m/s2 until it reaches a speed of 70 km/hr.  Then the truck travels for 20.0 s at constant speed until the brakes are applied, stopping the truck in a uniform manner in an additional 5.00 s.

a. How long is the truck in motion? 

b. What is the average velocity of the truck for the motion described? 

4. A motorcycle policeman hidden at an intersection observes a car that ignores a stop sign, crosses the intersection, and continues on at constant speed. The policeman starts off in pursuit 2.0 s after the car passed the stop sign, accelerates at 6.1 m/s2 until his speed is 110 km/h, and then continues at this speed until he catches the car. At that instant, the car is 1.30 km from the intersection.  How fast was the car going? 
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